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Using the quadratic formula (correct to 2 decimal places) 

x = -0.24 x = 0.41 x = 0.73 x = -0.22 x = 4.19   2x2 + 5x + 1 = 0 2x2  - 2x - 1 = 0 

x = -1.19 x = -0.37 x = -0.22 x = -0.23 x = -0.21   x2 + 2x  - 5 = 0 2x2 + 2x - 2 = 0 

x = 1.37 x = -2.87 x = -0.29 x = 0.62 x = -1.62   x2 + 2x - 2 = 0 2x2 + 4x  - 5 = 0 

x = -3.45 x = -1.43 x = 0.87 x = -2.28 x = -2.73   x2 - 3x - 5 = 0 2x2 + 4x + 1 = 0 

x = -0.23 x = 1.45 x = -0.26 x = -2.41 x = -1.71   2x2 + 4x - 2 = 0 3x2 + 5x + 1 = 0 
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Using the quadratic formula (correct to 2 decimal places) 

x = -1.19 x = -0.23 x = -2.73 x = -2.87 x = -0.22   2x2 + 4x  - 5 = 0 x2 + 2x - 2 = 0 

x = -1.71 x = -0.23 x = -1.62 x = -1.43 x = -0.26   3x2 + 5x + 1 = 0 2x2 + 4x - 2 = 0 

x = 0.87 x = 0.62 x = 4.19 x = -2.28 x = -2.41   x2 - 3x - 5 = 0 2x2 + 2x - 2 = 0 

x = 0.41 x = -3.45 x = 1.45 x = -0.22 x = -0.21   2x2  - 2x - 1 = 0 2x2 + 4x + 1 = 0 

x = 0.73 x = 1.37 x = -0.37 x = -0.24 x = -0.29   2x2 + 5x + 1 = 0 x2 + 2x  - 5 = 0 

          
  

  

What is the missing solution? 

What is the missing solution? 
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Using the quadratic formula (correct to 2 decimal places) 

x = -1.19 x = -0.23 x = -1.43 x = -2.73 x = 0.73   2x2 + 5x + 1 = 0 3x2 + 5x + 1 = 0 

x = -1.62 x = -0.23 x = -0.22 x = -2.28 x = 0.87   2x2 + 2x - 2 = 0 x2 + 2x  - 5 = 0 

x = -1.71 x = 0.62 x = -0.26 x = -3.45 x = 0.41   2x2 + 4x  - 5 = 0 2x2 + 4x - 2 = 0 

x = -0.24 x = -0.29 x = -2.41 x = -0.21 x = 1.45   2x2  - 2x - 1 = 0 2x2 + 4x + 1 = 0 

x = -0.37 x = 4.19 x = 1.37 x = -0.22 x = -2.87   x2 - 3x - 5 = 0 x2 + 2x - 2 = 0 
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Using the quadratic formula (correct to 2 decimal places) 

x = -1.19 x = -0.23 x = -2.73 x = -2.87 x = -0.22   2x2 + 5x + 1 = 0 2x2 + 4x + 1 = 0 

x = -1.71 x = -0.23 x = -1.62 x = -1.43 x = -0.26   2x2  - 2x - 1 = 0 x2 - 3x - 5 = 0 

x = 0.87 x = 0.62 x = 4.19 x = -2.28 x = -2.41   x2 + 2x  - 5 = 0 2x2 + 4x  - 5 = 0 

x = 0.41 x = -3.45 x = 1.45 x = -0.22 x = -0.21   x2 + 2x - 2 = 0 3x2 + 5x + 1 = 0 

x = 0.73 x = 1.37 x = -0.37 x = -0.24 x = -0.29   2x2 + 4x - 2 = 0 2x2 + 2x - 2 = 0 

 

What is the missing solution? 

What is the missing solution? 


